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METAMORPHOSIS

Trapped in Lockham
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Activity 1. 
a. Read the following statements.
b. Are they right or wrong? Read p.9 or listen to the audiobook to find the right answers.

c. Why? Quote a short passage from the text to account for your choice. 

- There are 3 shops in Lockham.      Right       Wrong …………………………………………..

- There are 2 post offices. Right        Wrong …………………………………………..

- There is a bank. Right        Wrong …………………………………………..

- There is 5 little supermarkets.        Right        Wrong ………………………………................

- There are 10 nightclubs. Right        Wrong ………………………………................
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Activity 2. Highlight 5 reasons explaining why John is bored. 

He has a funny life.     He is not free.     He does not like his life.     His friends are boring. 

He is no longer interested in soccer.      He does not like his school.     He lives in a little town.

Activity 3. Write 5 sentences to explain why John is so bored. Use the vocabulary

highlighted in activity 2. Example : He is bored because he has a very normal life. 

1) He is bored because.............................................................................................................. 

2) .............................................................................................................................................. 

3) ..............................................................................................................................................

4) ..............................................................................................................................................

5) ..............................................................................................................................................


